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1 N |None 4SXS-1 100 4HE-2 100 200 5 EW140 1 -6
2 E NS 3CW3 110 2NW-1 50 160 4 EWS80 -1 -4
3 S | EW 6CS6 920 6CS7 940 20 1 NS840 2 -3
4 W |Both 3HN3 140 2SS2 110 30 1 NS90 2 -1
5 N NS 2NN-1 100 4HN-4 400 300 7 EW180 2 6
6 E | EW 3NW5 660 3NW5 660 EW650
7 S |Both 4SE6 680 4SE7 710 30 1 EW680 1
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1| N |None|] 5DW-2 100 2CW-3 150 50 2 EW140 | 6 7
2| E| NS 2HW3 140 1NW1 90 50 2 EWS0 | -2
3|8 |EW 6CN6 920 3NN7 520 400 9 NS840 | 2 8
4 | W |Both|  4HN-1 100 3HN3 140 240 6 NS90 | -5 2
5| N| NS 2HN2 110 2NN-2 200 | 310 7 EW180 | 7 1
6 | E|EW 3NW4 630 3NW5 660 | 30 1 EW650 | 1
7 | S |Both 4SE7 710 5SE7 710 EW680 | -1 1
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1 N |None| 3NE4 430 3DW-1 50 480 10 EW140 -7 -5
2 E NS 2HW3 140 2NW2 120 20 1 EWS80 -2 1
3 S | EW 6CS7 940 6NN7 1020 80 2 NS840 3 -5
4 W | Both 2HN2 110 3DE3 110 220 6 NS90 1 5
5 N NS 2CN-3 300 3SwW3 140 160 4 EW180 -3 -1
6 E EW 3NE5 660 3NW5 660 EWG650
7 S [Both 6SW-1 100 5SE6 680 780 13 EW680 13
8 W |None 2HW2 110 2HW-2 100 210 5 NS50 -4 -2
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1 N |None 3NE3 400 3NE3 400 EW140 -6 6
2 E NS 2CW2 90 2HW3 140 50 2 EWS80 2
3 S | EW 5CS6 420 6CS6 920 500 11 NS840 -9 -2
4 W | Both 3HN4 170 3HN3 140 30 1 NS90 2 -2
5 N NS 3NS-3 300 2HN-2 200 100 3 EW180 -3 1
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8 W |None 3HW-3 150 2NW-3 150 NS50 3 -3
@3 IMP| 3 |14 A3 | 2
BE 4 3L 4w 8 TFERE R4y
* B IMP 3 14
&3 IMP 3 14 »
- $-VP 5.91 14.09
5t




4

11252 2ABERFHL R | 4

NS =& #a g (B0) 6 T bl 5 1 O NS #l&3# § £4%(PC)
EW #442& Epa(30) a e EW 1<% ®=L3#(R0)
B# | DL | & 2R M3 ES A%EREA COP Datum
1
Kl z9zmx [ NS [ EW | 25z2% | NS | EW | #6 | #10 | #6 [#10] #6 [#10 || Mean | Ns | EW
1| N |None| 4sXxs-1 100 3NE3 400 | 300 7 EW140 | 1 6
2 | E|Ns 2HE3 140 2NW-1 50 190 5 EW80 | -2 -4
3|s|Ew 6CS7 940 6CS6 920 20 1 NS840 | 3 -2
4 | W [Both| 2HN3 140 3HN4 170 30 1 NS90 | 2 2
5| N| NS 4DS-2 200 4DS-1 100 100 3 EW180 | -1 -2
6 | E|EW 3NE5 660 3NW5 660 EW650
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bl Hr2% | NS | EW | £x25% | NS | EW | #5 | #1 | #5| #1 | #5 | #1 Mean | NS EW
1 N [None 4HE-2 100 4SXS-1 100 200 5 EW140 6 -1
2 E | NS 2NW-1 50 3Cw3 110 160 4 EW80 4 1
3| S |EW 6CS7 940 6CS6 920 20 1 NS840 3 -2
4 | W |Both 2SS2 110 3HN3 140 30 1 NS90 1 -2
5| N | NS 4HN-4 400 2NN-1 100 300 7 EW180 -6 -2
6 E | EW 3NW5 660 3NW5 660 EW650
7 | S |Both 4SE7 710 4SE6 680 30 1 EW680 -1
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1 N [None 2CW-3 150 5DW-2 100 50 2 EW140 7 -6
2 E | NS 1NW1 90 2HW3 140 50 2 EW80 2
3| S |EW 3NN7 520 6CN6 920 400 9 NS840 -8 -2
4 | W |Both 3HN3 140 4HN-1 100 240 6 NS90 2 5
5| N | NS 2NN-2 200 2HN2 110 310 7 EW180 -1 -7
6 E | EW 3NW5 660 3NwW4 630 30 1 EW650 -1
7 | S |Both 5SE7 710 4SE7 710 EW680 -1 1
8 | W [None 2HW-1 50 2HW-2 100 50 2 NS50 -2
23+ INP| 10 |19 A | 10
- 23 . -2 . 22
B 7 Z 13 2 TiFEL 3 N &R
* B IMP 10 19
£+ NP 10 19 B
2 HVP 6.55 13.45
it




4

11252 2ABERFHL R | 4

NS z2mpxm %P (FC) 9 T bl 3 3 NS &% #855(R0)
EW 21#z #£xz2(R0) a e EW #t:E pw 2(FC0)
B# | DL | £ % MEZ 2RE ES R A~ COP Datum
1
R tyz 23 | NS | EW | 2¥22% | NS | EW | #9 | #3 | #9 | #3 | #9 | #3 Mean NS EW
1 N |None 3DW-1 50 3NE4 430 480 10 EW140 5 7
2 E NS 2NW2 120 2HW3 140 20 1 EW80 -1 2
3 S | EW 6NN7 1020 6CS7 940 80 2 NS840 5 -3
4 W |Both 3DE3 110 2HN2 110 220 6 NS90 -5 -1
5 N | NS 3SwW3 140 2CN-3 300 160 4 EW180 1 3
6 E | EW 3NW5 660 3NE5 660 EW650
7 S |Both 5SE6 680 6SW-1 100 780 13 EWG680 13
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2 H2e% | NS | EW | 642235 | NS | EW | #8 | #4 |#8 | #4| #8 | #4 || Mean | Ns
1 | N |None] 3NE3 400 3NE3 400 EW140 | -6
2 E NS 2HW3 140 2CW2 920 50 2 EW80 -2
3| s |EwW 6CS6 920 5CS6 420 500 1 NS840 | 2
4 W |Both 3HN3 140 3HN4 170 30 1 NS90 2
5| N| NS 2HN-2 200 3NS-3 300 | 100 3 EW180 | -1
6 E | EW 3NW5 660 3NE5 660 EW650
7 | s |Both| 4sEs6 680 4SE6 680 EW680
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1 N |None 3NE3 400 4SXS-1 100 300 7 EW140 -6 -1
2 E NS 2NW-1 50 2HE3 140 190 5 EW80 4 2
3 S | EW 6CS6 920 6CS7 940 20 1 NS840 2 -3
4 W |Both 3HN4 170 2HN3 140 30 1 NS90 2 -2
5 N NS 4DS-1 100 4DS-2 200 100 3 EW180 2 1
6 E | EW 3NW5 660 3NE5 660 EW650
7 S |Both 6SE6 1430 4SE6 680 750 13 EW680 -13
8 W |None| 2HW-1 50 2HW-1 50 NS50
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